o ™A x 9] & okt

D 6 @ 3Vi0 B 3 @ 2410 & 2411



o2 O-oflA £C =90°, BM =CM,
AB =25cm , AC = 7cm ©[t}. o]uf,
AM 9] Zol=?

D V190 cm @ V191 cm
@ V194cm ® V199 cm

® +193cm



3. o= I™ANA x 9 g2?

\~_m_,’ D\4_/

D 4 @ 8 3 2Vil @ 10v2 O 12



22 47t ABC 9|4 AB 2

sholat

,_nul

e
s

il

o=

7210

4.




& oA AHLBC, BM = MC ©]2 AB = 17, BC = 28,
CA =25 ¢ o, AM o] Zo|& F3sloiet.




6. o5 2™AA x+y o] G FsheiEt




g 297} 2 474 ABC o4 AB 9
Aol Fatelat.

®©7VZ @13 ® 6v2
@ 3v10 G 5




? (BE 27N)

B

_ﬂ_
R

o
N

G 2410

@ 3

® 243

@ 57

58

@



9. the T o] ,C = 90° ol ZZHZFY ABC oA AD +BE- = 21
o o, DE” + AB~ & F3tofa}.

A




10.

e I8y &
oA DE = 3cm, CD
6em < W, BC 9] 2

Be
= -

22474 ABC
:4 m37E:
ol Fotoie,




11. ke 129 HAZAE ABCD o4 PA = 4, PC = 6 ¢ w}, PB°+PD"
o] gk Fatola

A D

D 48 ® 50 A 52 @ 54 B 56



12. o3 293 Zo] ZAZEY ABCD © Wiiof ¢ 4 P7} Qlth. AP =
5cm,BP = 6cm, CP =4cm € W], PD 9] Zo|& L5}H?

A < D
\5cm\___P
/1
//l
,” dem
6¢ \
B«=— SO
® 3V2cm @ v5em ® 5V2cm

@ 3V3cm ® 4+v5cm



13. thg 293 2ol 3 M Pol7t 6em 9
ALY 5 NS 0192 u), BE o] gol \
Fstolet

B~6em”C~6cm”

S EER cm



14. o 7ge|4 OA =OB , OB’ =0C , OC = OD °|t}. OP =
OA=5 %, 0D -0C 9 Pl Fstolet.

P A B CD
M R O
! X A

! \
5 \‘ \ ‘\
\ \

' alulis




15. th3 J273} Zo] nABCD oA ACLBD € o,
AB’ +CD’ 9] g2 Fatolal.



16. the APZEgelA x o g2 T5hE?

@ 6 @ 37 ® V39
@ 210 G 7




@ 10cm? @ 12cm? @ 14cm?

@ 16 cm?2 B 22 cm?2



e Zgolq A AF BHo| Yol

30cm? o]=t1l & u], AH O] do|=
stofet,

B
2

cm

e




19. b 13 2ol HZHIZHY ABC oA M7He 71 5 W 77} A
202 S WYS TS 1, T 0] Holol TS, + 5, O S
Fp?

/\
O
B “~-10cm- "~ C
@ —ncm? @ 35 cm? ® Zrxcm?
5 5 ’
@ —nmem? ® Smem?



20. o3 I 2 A4 ABC oA ZF B8 A5 O2 ot

5 P,Q.RE 18 1, A 9] Wol o] g9

@ 64rcm? @ 70mcm? ® 8lmcm?

@ 100mcm? B 121mcm?



21.

th2 193} Zo] AB = 6cm, AD =
10cm Q1 AAZE 1Yo FolE 2 D

7} BC Yol 2=5& S uf, BE 9

dol=?

® 2v2cm @ 8cm
@ 5cm ® 7cm

® 2vV3cm



22,

thS 23 a 248 ALY ABCD S AR AQ S HE Ao 5l
ZAA D7 B

21 C 29l AP ol == HUth. aABP ¢ aPCQ 7}t
277k o) 5]7] 918 PQ ©] AolE fatelet.




23.

@O 5cm?

® 6cm?




AB =BC =8cm ¢l AZo]F
EF & = Aoz sto] A
Aol @A -2 Zloltt. AEBD
ZolE Fotefzt,

1
zt

m dlo
O rlo

o

el

J—'Ofll il

i &
N o

lo M L
JQ

=,

vs)




25. th 193 Zo] AB =BC =10 %1 7o 5847ty ABC £ EF
=1 1%21% Aol A 7} BC 9 - A== 51k, o]
DE ] Zo]& F-stolzt.

4
AN
I/ \
1 \\
!
lo?mi \\\F
\E




